Math 105 Practice Midterm1, Spring 2011

1. Short answer questions
(1) Let f(z) = fjg Vit + 1dt. Compute f'(1).

(2). Find the numbers b such that average value of the function f(z) =
32% — 6z + 2 on [0, b] is equal to 0.

(3). Write out the Trapezoid Rule approximation for [/ z - cos(T) dr with
n=3.

2. Find [y e®*+¢") dg.

3. Find the average value of |sinf — cos 6| on [0, 7].

4. Evaluate (1). [x(Inz)*dz, (2). f%dw.

5. Find a function f(z) whose graph goes through the point (0, 3) and whose
slope at any point (x, f(x)) is
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